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NOMBRE :__________________________________________ CARRERA:________
TIEMPO MÁXIMO : 30 MINUTOS                    FECHA : Mi 22/03/23

Resuelva las siguientes inecuaciones

       
 30 puntos

Solución:
                      

                              

   


 30 puntos
Solución:
   
               

Puntos críticos:
                      

 

        

Tabla francesa:
                

        

       

    


        


